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Marker commentary

06

This is a technical question that required candidates to use
the information contained in the question to prepare the
statement of changes in equity for the year ended 30 June
2023. Correct preparation of the statement of changes in
equity is necessary to provide evidence of convincing
communication to users of the financial statements.

The candidate’s answer and the layout of their workings
provides evidence of logical development, precision, and
clarity of ideas. Furthermore, the answer provides evidence of
highly developed knowledge, skills, and understanding in that
the candidate was aware that they needed to make
adjustments in order to prepare a correct statement of
changes in equity for the year ended 30 June 2023.

The candidate provided evidence of convincing
communication of accounting information in the format of a
statement of changes in equity. Appropriate terminology was
used.

The candidate provided evidence of sophisticated integration
and abstraction or evidence of critical thinking in that they
prepared a statement of changes in equity after considering
some of the adjustments required by the additional
information provided.

The answer showed research beyond that required for Level 3
in that correct and complete journal entries were used to
account for revaluation. Level 3 taught an abbreviated
approach.

There was evidence of highly developed knowledge, skills,
understanding and technical ability in that the candidate was
able to correctly calculate the gain on disposal of the asset.
The candidate made a number of technical errors in the
calculation of the retained earnings portion of total
comprehensive income for the year ended 30 June 2023.
However, they recognised the need to fully consider the
additional information provided. Overall, the candidate has
provided a clear answer to a technical question that meets the
scholarship criteria. This candidate would probably have
achieved outstanding scholarship for this question had the
workings for the calculation of the retained earnings portion of
comprehensive income been provided.

07

This was a current issues question that required candidates to
discuss some of the current issues facing accountants before




critically evaluating whether the traditional definition of
accounting continues to be fit for purpose and suggesting how
it may be amended to more accurately reflect its modern
purpose, influence, and contribution to society.

The candidate provided some evidence of planning, logical
development, precision and clarity of ideas.

In the introduction, the candidate highlighted the key issues
facing accountants and the contribution they can make in
addressing some of the issues facing society.

The candidate drew on the resources to provide evidence of
independent reflection and extrapolation to critically evaluate
whether the traditional definition of accounting continues to
be fit for purpose. They then suggested how it may be
amended to reflect its modern purpose, influence, and
contribution to society more accurately.

The candidate suggested how the accounting definition may
change to reflect its modern purpose, influence, and
contribution to society, but without providing a definition.
Given that this current issue was not signposted in the
assessment specifications, there is no opportunity for
candidates to demonstrate or provide evidence of
independent research. In addition to some evidence of
planning in the introduction, the candidate has demonstrated
some elements of critical thinking when evaluating whether
the traditional definition of accounting continues to be fit for
purpose, before suggesting how it may be amended to reflect
its modern purpose, influence, and contribution to society
more accurately. The set out of the answer provided evidence
of logical development, precision, and clarity of ideas. In
framing their answer, this candidate provided a sufficiently
sophisticated analysis to reach the level of outstanding
scholarship. The answer demonstrates evidence of convincing
communication.

04

This is a concepts question that required candidates to use
the definition and recognition criteria contained in the New
Zealand Equivalent to the IASB Conceptual Framework for
Financial Reporting 2018 (NZ Framework) to discuss whether
they agree with a friend’s accounting treatment for the costs
of setting up her pet business detailed in the journal entries
provided.

The candidate provided some evidence of an understanding
of the individual elements of the definition of an asset and
their application in the New Zealand Equivalent to the IASB
Conceptual Framework for Financial Reporting 2018 (NZ
Framework).

They also provided some evidence of an understanding of the
recognition criteria for an asset contained in the New Zealand
Equivalent to the IASB Conceptual Framework for Financial
Reporting 2018 (NZ Framework).




The candidate demonstrated some perception and insight in
that they recognised existence uncertainty.

Although incorrect, the candidate does discuss whether they
agree with the treatment.

There is some evidence that the candidate understands the
definition and recognition criteria for an asset contained in the
New Zealand Equivalent to the IASB Conceptual Framework
for Financial Reporting 2018 (NZ Framework). The candidate
has attempted to use elements of the definition of an asset in
their answer. The candidate also identified the recognition
criteria. However, the answer required more focus, and
particularly a more in-depth discussion of the high degree of
measurement uncertainty associated with the inflow of
economic benefits (attributing a value that faithfully
represents the value of the asset). This answer does not meet
the scholarship criteria.

04

Question four was a management decision question. It
required candidates establish the break-even and net profit
for 2024 before evaluating three independent scenarios. As
part of their answer, candidates were required to apply critical
thinking and consider both financial and non-financial
information when coming to their decision.

The candidate demonstrated the technical skills in calculating
the break-even point and expected net profit and break-even
for 2024 for scenario 3 (shifting the production process to
Vietnam). This provided a basis for their answer.

In failing to consider non-financial factors, the candidate
provided limited evidence of critical thinking when evaluating
the three independent scenarios.

The candidate provides limited evidence of independent
reflection and extrapolation when recommending an option
that Forge Audio Limited should implement in 2024.

This was a relatively straight forward question. The answer
could have been improved had they calculated the break-even
points (scenario two) and incorporated the correctly
calculated break-even point in their answer. This answer does
not reach the level of scholarship.






